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Question Number : 1 Question Id : 2549896398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

___isthe ability of the operating system to run more than one application at a time.
Options :

1. % Booting

2. * Sharing

3. # Thrashing

4. ¥ Multitasking

Question Number : 1 Question Id : 2549896398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® g

2. % i

3. ® gfeim

4. ¢ g SRR (A 1)



Question Number : 2 Question Id : 2549896504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel is a:

Options :

1. ® graphic program

2. * word processor

3. ¥ spreadsheet

4. # presentation tool

Question Number : 2 Question Id : 2549896504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel A= & @ @1 82

Options:

1. # 7ifther oA

2. ¥ g UM

3. ¢ Tesfie

4, % SIS ¢

Question Number : 3 Question Id : 2549896579 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Decimal equivalent of 9614 is:

Options :

1. % 60

2.% 6



3. % FO

4.+ 150

Question Number : 3 Question Id : 2549896579 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

9616 % TSR GAHT B

Options:

1. % 60

2. %6

3. % FO

4. % 150

Question Number : 4 Question Id : 2549896589 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which part of the CPU performs add, subtract, divide, multiply and logic operations?
Options:

1. ® Reqisters

2. * Control unit

3. % ALU

4. * RAM

Question Number : 4 Question Id : 2549896589 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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logic operations) = T BRI HdT 872
Options :

1. # AR

2. % fag=or 3w (wude gfie)

3. ¥ ALU

4. % RAM

Question Number : 5 Question Id : 2549896605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the main folder on a storage device called?
Options :

1. # Platform

2. * Interface

3. ¥ Root directory

4. % Subfolder

Question Number : 5 Question Id : 2549896605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ wicHH

Question Number : 6 Question Id : 2549896671 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

CD-ROMis a:

Options :

1. ¥ semiconductor memory

2. % memory register

3. ¥ magnetic memory

4. + storage device

Question Number : 6 Question Id : 2549896671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

CD-ROM &1 872

Options:

1. % geilcheder AaRY

2. % AR} IR

3. % gachig AE

4. ¢ TR fearsq

Question Number : 7 Question Id : 2549896751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

HTML is used to:

Options :

1. % plot complicated graphs only

2. % store information

3. * solve equations



4. ¥ create web pages

Question Number : 7 Question Id : 2549896751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ thad Sffeet wiie ik & feg|
2. % g1 STHT A o felg|

3. ® gHIRUT! ohl BT e o gl
4, ¢ {4l 99 U &l 591 & g

Question Number : 8 Question Id : 2549897003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A code consisting of lines of varying widths or spacing that are computer-readable is known as:
Options:

1. # ASCII code

2. ¥ Magnetic tape code

3. ¥ Bar code

4. % OCR scanner

Question Number : 8 Question Id : 2549897003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. % ASCII code
2. ¥ Magnetic tape code
3. ¥ Bar code

4, * OCR scanner

Question Number : 9 Question Id : 2549897089 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following loses its contents when the computer is turned off?
Options :

1. ¥ RAM

2. % ROM

3. % PROM

4. % CD-ROM

Question Number : 9 Question Id : 2549897089 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ RAM

2. % ROM

3. * PROM

4. * CD-ROM

Question Number : 10 Question Id : 2549897278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following options is used with the "Is" command to display modification time along

with file and directory name in Linux?
Options :

1. % -a

2. % -X

3.9 -

4. % -r

Question Number : 10 Question Id : 2549897278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % -a

2. % -X

3.¢

4. % -r

Question Number : 11 Question Id : 2549897617 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many bits of data is transmitted at a time using a Parallel Port?
Options :

1. % 16

2.9 8

3. % 32



4. % 64

Question Number : 11 Question Id : 2549897617 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 16

2.9 8

3. % 32

4. % 64

Question Number : 12 Question Id : 2549897699 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In second generation of computers ____ technology is used.
Options :

1. % transistors

2. * vaccum tubes

3. # integrated circuits

4. * VLSI

Question Number : 12 Question Id : 2549897699 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. ¢ gifeiex
2. ¥ g &S
3. ¥ gehlgpd uRuy

4. % VLSI

Question Number : 13 Question Id : 2549897724 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Laser printer uses heat and pressure to bind the tiny particles of a onto the paper.

Options :
1. % dye
2. #* ink

3. % toner

4, # wax

Question Number : 13 Question Id : 2549897724 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 83
2. % 3
3. ¥ AR
4, % J9

Question Number : 14 Question Id : 25498930061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Biometric recognition systems are inherently __
Options:

1. % statistic

2. ¥ probabilistic

3. ¥ dynamic

4. * transparent

Question Number : 14 Question Id : 25498930061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gy (statics)

2. ¥ 91 (probabilistic)

3. % wfasfte (dynamic)

4. ¥ gResie (transparent)

Question Number : 15 Question Id : 25498930692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Hexadecimal equivalent of decimal 17is
Options :

1. * ke

2.9 1116

3. % 1Aq6

4. * 1716



Question Number : 15 Question Id : 25498930692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Fqg

2. 1116

3. % 1Aq6

4, % 1716

Question Number : 16 Question Id : 2549898153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

(A/An) is one of the upcoming biometric technology which uses physiological characteristics

for identification.
Options :

1. * Writing Style
2. % Hotspot

3. ¥ DNA Matching

4, * Typing Speed

Question Number : 16 Question Id : 2549898153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % i w@rge



() )

2. # glcyld
3. ' DNA #&fgm
4, % grgfin afie

Question Number : 17 Question Id : 2549899598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Printer Command Language (PCL) was developed by:
Options :

1. ¥ Hewlett-Packard

2. % IBM

3. % EPSON

4. % Sony

Question Number : 17 Question Id : 2549899598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ gleic Ihrs

2. % 3rgdied (IBM)

3. ¥ U_ (EPSON)

4. % gt (Sony)

Question Number : 18 Question Id : 25498910771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is the appropriate shortcut key to insert a Hyperlink in a MS Word-2019

document?
Options :

1. # Ctrl+B
2. % Alt+B
3. ¥ Ctrl+K

4, ® Ctrl+A

Question Number : 18 Question Id : 25498910771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Ctrl+B
2. % Alt+B
3. ¢ Ctrl+K

4, ® Ctrl+A

Question Number : 19 Question Id : 25498911208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The is a computer input device that is used to input the sound. It receives the sound

vibrations and converts them into audio signals or sends to a recording medium.
Options :

1. * digitizer

2. % joystick

3. ¥ microphone

4, # keyboard



Question Number : 19 Question Id : 25498911208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 20 Question Id : 25498913406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

is the term used to define a method for reducing the data used to encode digital video

content.

Options:

1. % Video Compression

2. % Audio Compression only
3. * Data Translation

4, # Video Decompression only

Question Number : 20 Question Id : 25498913406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ difSat Idie (Video Compression)

2. % thae dfifedr ¥dte (Audio Compression only)

3. ¥ a1 3are (Data Translation)

4. ¥ hae ATt Stehda (Video Decompression only)

Question Number : 21 Question Id : 25498913917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of IPv4 addresses, the higher order bits of the first octet of Class E are always set to:
Options :

1. # 0000

2. % 1110

3. # 0011

4.4 1111

Question Number : 21 Question Id : 25498913917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % 0000
2. % 1110
3. ¥ 0011

4. ¥ 1111

Question Number : 22 Question Id : 25498918457 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Preventing unauthorised access to programs and data is considered as which of the following

activities of an operating system?
Options :

1. ¢ Security

2. * Job accounting

3. * Error detecting

4. % Error correction

Question Number : 22 Question Id : 25498918457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. R

2. % Siiq Ui
3. % g f&dem
4. ¥ TR HaRME

Question Number : 23 Question Id : 25498918467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Copiers use xerography technology that is similar to the technology used in ______
Options :

1. % drum printers

2. * dot matrix printers



3. #* chain printers

4.+ laser printers

Question Number : 23 Question Id : 25498918467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % g fix

2. ¥ gie Afge fiier
3. ¥ I iR

4, ¥ IR Uiz

Question Number : 24 Question Id : 25498918550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NLG, a subcategory of Natural Language Processing (NLP), stands for:
Options :

1. * Natural Language Group

2. ¥ Natural Language Generation

3. ¥ Natural Language Gram Model

4, ® Natural Language GRID

Question Number : 24 Question Id : 25498918550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ TR oidSt I

2. ¢ AR IS SRR
3. ¥ AR AT A Hisd
4, % I et e

Question Number : 25 Question Id : 25498919264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is a business that provides the technologies and services required to publish your website

on the internet.

Options :

1. % Web hosting service provider

2. # Telephone exchange department
3. * Network administration

4. % E-Commerce

Question Number : 25 Question Id : 25498919264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ 39 I Tar varar
2. ¥ TR Yo A
3. ¥ deadh gemfasm
4. % gy



Question Number : 26 Question Id : 25498919306 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts is used to open a new tab in a Web Browser?
Options :

1. % Ctrl+ A

2. % Ctrl+ C

3. Ctrl + T

4, ® Ctrl+V

Question Number : 26 Question Id : 25498919306 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % Ctrl + A

2. % Ctrl+C

3. Ctrl +T

4, % Ctrl +V

Question Number : 27 Question Id : 25498919361 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Small graphical representations of files, folders, programs or other items in a GUI-based operating

system are called:
Options :
1.+ Icons

2. ¥ Symbols



3. # Tabs

4. % Ribbons

Question Number : 27 Question Id : 25498919361 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ 3SR

2. ¥ e

3. % &9

4, ¥ Re=

Question Number : 28 Question Id : 25498922676 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When activated, the ______ key capitalises every letter you type until you turn it off in MS-Word.
Options :

1. % Ctrl

2. ® Shift

3. ¥ Caps Lock

4. * Tab

Question Number : 28 Question Id : 25498922676 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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3Tt 7 & fear g
Options :

1. % Ctrl

2. ® Shift

3. ¥ Caps Lock

4. % Tab

Question Number : 29 Question Id : 25498924434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to the batch operating system is FALSE?
Options :

1. #* Thereis a lack of interaction between the user and the job.

2. # The CPU is often idle, because the speed of the mechanical I/O devices is slower than that of

the CPU.
3. # Itis difficult to provide the desired priority.

4. ¢ Batch systems are easy to debug.

Question Number : 29 Question Id : 25498924434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
T SATRIET Rew & dgof & 71 # @ 9 a1 Sy 319 87

Options :

1. % 340 goR 3R Sid & i g &l wH gidl 3|

2. % didiyg (CPU) srerR Sk giar 8, aifes aifies 1/0 fSargd &t aifa CPU <t wifay & ofi+ it 21
3. % gifyd urafdedr (WaRd) gear T Sis gar g1

4, ¢ 99 (%A ol ST hAT ST gial 8l




Question Number : 30 Question Id : 25498925346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In sleep mode, a computer enters into:

Options :

1. * high power state

2. * medium power state

3. ¥ low power state

4. % zero power state

Question Number : 30 Question Id : 25498925346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

wuAe AR fRfq o =em sirar 21

Options:

1. ® I UleR R

2. % HegH UlaR Y

3. ¢ = iR &t

4, ¥ [T UlaR i

Question Number : 31 Question Id : 2549896404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Web pages are uniquely identified using:

Options :

1. * IP address

2. % domain



3. ¥ URL

4. % file name

Question Number : 31 Question Id : 2549896404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

39 Usi ! fohg <ist a1 IuahT e fafre ®u & ug=mr Sirar 82
Options :

1. % IP U39

2. % g

3. % URL

4. % g AH

Question Number : 32 Question Id : 2549896467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following options will be used to send a copy of a received e-mail to someone who

was not marked in it earlier?
Options:

1. Forward

2. % Reply

3. * Back

4, #* Reply all

Question Number : 32 Question Id : 2549896467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ BRaS

2. % Reerd

3. % 9

4. % ReeTg aifet

Question Number : 33 Question Id : 2549896526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which shortcut key is used to copy the selected cells in MS Excel?
Options :

1.9 Ctrl + C

2. % Ctrl + A

3. % Ctrl +B

4, % Ctrl+ D

Question Number : 33 Question Id : 2549896526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel # Tafad I onl it ezt o foiq ford 2iiéane it et IJuahr fohar Sirdr 82
Options :

1.9 Ctrl + C

2. % Ctrl + A

3. % Ctrl+B

4. % Ctrl+D



Question Number : 34 Question Id : 2549897097 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is @ unique feature of Gmail, which automatically sorts your mails into three sections:

important and unread, starred, and everything else.
Options :

1. # Preference inbox

2. * Priority message

3. ® Sort message

4. + Priority inbox

Question Number : 34 Question Id : 2549897097 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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___ Gmail &l Ueh fafrE fa<iedr & Sit T@eiield €U & 3TUeh Hel @l ol AN H Shifelg il 6: Heayui 3R
Ui, dRifehd 3R 3= Tt

Options :

1. % Jidg gaTe (Preference inbox)

2. % graiRé A9 (Priority message)

3. % & AGS (Sort message)

4.  UrREY 3ated (Priority inbox)

Question Number : 35 Question Id : 2549897392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function key is used to extend a selection in MS Word 2016?

Options :



1. % F1
2. % Fo6
3. ¥ F8

4. % F7

Question Number : 35 Question Id : 2549897392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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MS Word 2016 # T+ &l faedR et o folq it It thar it ol IuiT fopam STrar 8?2
Options :

1. % F1

2. % F6

3. F8

4. % F7

Question Number : 36 Question Id : 2549897451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By default, Word sets all margins left, right, top, and bottomto_____ inch.
Options :

1.4 1inch

2. # 0.5inch

3. # 0.75inch

4. % 2inch

Question Number : 36 Question Id : 2549897451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

fShiee 0 &, Word a3, <18, v qar adt, g+t Aiisa &t 39 )R I a8
Options :

1.¥159

2. % 0559

3. % 0.7559

4. % 239

Question Number : 37 Question Id : 2549897471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the key / key combination to move to the next title or body text placeholder in MS

PowerPoint?
Options:

1. % Enter

2. ¥ Ctrl+Enter
3. ¥ Shift+Enter

4. % Alt+Enter

Question Number : 37 Question Id : 2549897471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint # 3iTet 2fitfeh a1 diTd} ¢eRe WHgles R ST o folg il / it Hatei T 8?2
Options :

1. # Enter

2. ¥ Ctrl+Enter

3. * Shift+Enter

4. % Alt+Enter



Question Number : 38 Question Id : 2549898057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

_____chartis used in the visualization of hierarchical data in MS Excel.
Options :

1. * Bar

2. ¥ Sunburst

3. * Area

4. % Column

Question Number : 38 Question Id : 2549898057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ 4%, MS Excel # affepa Sa1 & fasparemmgsies | IuahT fohar Sirar 1
Options :

1. % dR

2. I

3. ® gfar

4. ® picH

Question Number : 39 Question Id : 2549898072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function key generates a bar graph from the value entered in MS Excel?
Options :

1. % F12



2. ¥ F11
3. % F10

4. % F9

Question Number : 39 Question Id : 2549898072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

I Y e it MS Excel H &1 Hed 9 ER U0 ST 872
Options :

1. % F12

2. ¥ F11

3. % F10

4. % F9

Question Number : 40 Question Id : 2549898091 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A/An _____ function checks to see if two text values are exactly identical in MS-Excel 2019.
Options :

1. % EXACT()

2. % FIND()

3. % CONCATENATE()

4. *= CHAR()

Question Number : 40 Question Id : 2549898091 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



MS-Excel 2019H, _ ThaR[M I8 &+ oh folq STia e g foh R &t dere AT foiegpet 0T 81
Options :

1. % EXACT()

2. % FIND()

3. % CONCATENATE()

4. % CHAR()

Question Number : 41 Question Id : 2549898094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following options represents the correct order to export excel charts as PDF in MS

Excel?

Options :

1. # Create chart > Select chart > Copy > Paste

2. * Create chart > Select chart > Copy > Paste Special
3. # Create chart > Select Data > Save As : PDF

4. + Create chart > Select chart > File > Save As : PDF

Question Number : 41 Question Id : 2549898094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAafeifea & @ &9 a1 faseeg MS Excel & Excel I1¢ @t dieiut (PDF) & w9 ¥ fAgifad e & G99 J et shd &

8?

Options :

1. % 97E gAY > AIE A > HIdt B > T B

2. % F1E g1 > AE T > I e > T WLl e

3. % T7¢ SAG> 3T > 39 &Y H Waol: PDF

4. TN > A T > ISl >34 ¥ H Fgoi: PDF



Question Number : 42 Question Id : 2549898135 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The is the area which is enclosed by the two axis.

This does not include titles, legend, etc.
Options :

1.+ plot area

2. ® chart title

3. * data label

4. % chart area

Question Number : 42 Question Id : 2549898135 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
g & g S & 3refl 9 e gl

34 sfifer(title), <fists (legend) 3nfe nfAer =81 €1
Options :

1. ¢ wile gRan

2. % =7¢ argee

3. ¥ a1 et

4. % 31& gl

Question Number : 43 Question Id : 25498910623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following options is used to measure Line Spacing in MS Word?
Options:

1. % Lines or points

2. ® Spaces

3. * Bar

4. # Only lines

Question Number : 43 Question Id : 25498910623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word # @189 W& &t Aru+ & feiw A=fafRaa § @ fopg faerea a1 Iuah fehar Simar 82

Options :

1. ¢ &g+ a1 fig (Lines or points)
2. % g (Spaces)

3. ¥ gRr (Bar)

4. ¥ haet @rs+ (Only lines)

Question Number : 44 Question Id : 25498910700 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If you are using MS Word 2010 or later and if you want to find End of Paragraph mark then which

of the following steps is an appropriate step.
Options:

1. # Type At in the navigation search box

2. ¥ Type Ap in the navigation search box

3. #* Type Annn in the navigation search box

4. % Type A9 in the navigation search box



Question Number : 44 Question Id : 25498910700 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfe 3ma MS Word 2010 3T 39k ST & TEhUT Shl IUINT & T & 3R Ife 3T U=e 31Tth G (End of
Paragraph) A1k @I A1gd € df fA= & & ohlH-J71 TR0 Teh IUG<h =0T ¢

Options :

1. % AfqTE O dfe § At 28U

2. ¢ Afqn= 9 iy | Ap T3U w

3. % dfoneE 9 §feT # Annn <T8Y e

4. % AN g dieg § A9 ST e

Question Number : 45 Question Id : 25498913304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

With conditional formatting, you can apply formatting to one or more cells based on the of

the cell.
Options:
1. * width
2. % height
3. ¥ value

4. % link

Question Number : 45 Question Id : 25498913304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % dierg
2. % &=md
3. ¥ 7 (value)

4. % foin

Question Number : 46 Question Id : 25498918949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If you wish to align your text to the right of a page in MS Word. which key combination would you

choose?
Options :
1. % Ctrl+Z
2. ¥ Ctrl+R
3. ® Ctrl+F4

4. % Ctrl+M

Question Number : 46 Question Id : 25498918949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % Ctrl+Z
2. ¥ Ctrl+R
3. ® Ctrl+F4

4. % Ctrl+M

Question Number : 47 Question Id : 25498920666 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2007 allows creation of ______ type of document by default.
Options :

1. .docx

2. % wpf

3. % .txt

4. % dot

Question Number : 47 Question Id : 25498920666 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS Word 2007 fetiee ®u & ThR & SIeRIAE JT cht STHTd 3T 8l

Options:
1. % .docx
2. * wpf
3. % .txt

4. % dot

Question Number : 48 Question Id : 25498925288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To insert Smart art in MS-word 2016 we have to select _ menu in the ribbon.
Options :

1. * File

2. # View

3. * Design



4, + Insert

Question Number : 48 Question Id : 25498925288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-word 2016 # &1E AE ufde e h feggd ReAd __ A o1 90 o1 8T
Options :

1. % thrsd (File)

2. % g (View)

3. % fesirg (Design)

4.+ 39¢ (Insert)

Question Number : 49 Question Id : 25498930580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Excel formula, which symbol specifies the fixed columns or rows?
Options:

1.¥%

2. % @

3.% %

4. % &

Question Number : 49 Question Id : 25498930580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Excel B #, i< T Udteh AR & a1 ufhai fAfde axar 82

Options :



1.¥%
2.% @
3. %

4. % &

Question Number : 50 Question Id : 25498932163 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In compression technique we can compress the files without losing an original file's quality

and data.
Options :

1. % Lossless
2. % Lossy
3. # Glossy

4. % |Loseful

Question Number : 50 Question Id : 25498932163 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ e
2. % qret
3. % Tofie
4, ¥ AR

Question Number : 51 Question Id : 25498933752 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What will be the output of the following MS-Excel formula?

=CEILING.MATH(134, 17)
Options :

1. %7

2. % 15

3.%2

4.4 136

Question Number : 51 Question Id : 25498933752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
fA=faf@d MS-Excel I3 1 3m3eqe T ghm?

=CEILING.MATH(134, 17)
Options :
1.%7

2. %15

4. 136

Question Number : 52 Question Id : 25498934461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS Excel, text function is useful for combining values from different cells into a single cell.

Options :

1. % MATH



2. % OR
3. ¥ CONCATENATE

4. %= AND

Question Number : 52 Question Id : 25498934461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel &, ___ ¢oRe thar fafera Qat & A1 ol fohdlt U da1 A G0ifSid et & foig Suaift 81
Options :

1. % MATH

2. ¥ OR

3. ¥ CONCATENATE

4, * AND

READING COMPREHENSION
Section Id : 2549896364
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Clear Response: Yes
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Sub-Section Number : 1

Sub-Section Id : 2549896405



Question Shuffling Allowed : Yes

Question Id : 25498921037 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

Sweetest Things in the World

A father one day asked his daughters, "What is the sweetest thing in the world?" "Sugar!" said the
elder daughter. "Salt," said his younger daughter. Her father thought that she was making fun of
him, but she stuck to her opinion. The father was obstinate, and so was his daughter. A quarrel
broke out between them over this small matter, and he drove her out of the house, saying, "As
you think that salt is sweeter than sugar, you better find another home where the cooking is more

to your taste."

It was a beautiful summer night, and as the pretty maiden sat singing sadly in the forest around
her father's cottage, a young prince, who had lost his way while hunting the deer, heard her voice,
and went up to her to ask her the way. Then, struck by her beauty, he fell in love with her, took her

home to his beautiful palace and married her.

The bride invited her father to the wedding feast, without telling him that she was his daughter, All
the dishes were prepared without salt, and the guests began to complain as they ate the tasteless

food. "There is no salt in the food!", they said angrily.

"Ah," said the bride's father. "Salt is truly the sweetest thing in the world! But when my daughter

said so, I turned her out of my house. If only I could see her again and tell her how sorry I am!"

Drawing the bridal veil aside from her face, the happy girl went to her father and asked for his

blessings. Now properly salted dishes were brought in and all the guests were satisfied.

Sub questions



Question Number : 53 Question Id : 25498921038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘The father was obstinate and so was the daughter.’ This sentence tellsus that ____
Options :

1. % both stuck to their point

2. * both were in the right

3. ¥ both were in the wrong

4. * both wanted to quarrel

Question Number : 54 Question Id : 25498921039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct?

Options :

1. # The younger daughter wanted to make fun of her father.

2. # The father was right in asking his daughter to leave the house.
3. % The younger daughter’s answer had a profound meaning.

4. ¥ The young prince was moving around in search of a bride.

Question Number : 55 Question Id : 25498921040 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The prince married the young girl because ___
Options :

1. * she had a beautiful voice

2. ¥ he fell in love with her

3. ¥ she showed him the way



4. # he thought she was a princess

Question Number : 56 Question Id : 25498921041 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Salt is the 'sweetest' thing in the world because_____.
Options :

1. ¢ it adds taste to the food

2. * itis tastier than sugar

3. # it cooks food faster

4. % itis easily available

Question Number : 57 Question Id : 25498921042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The father eventually realized that ___

Options :

1. * he was right in turning out his daughter

2. ®# his elder daughter was right

3. ¢ his younger daughter was right

4. #® he should not have been so angry

Question Id : 25498921037 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time: 0
Question Numbers : (53 to 57)
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1.« T 1T 1T 1 IR 316 &
2. % i gl wgr g

3. % gl gl et &

4. % S FHTST AT A6 o
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1. % B I AT T AsiTeh et argdt ot

2. % fUdr 9 Ul oY TR B o g g wx Fal fehari
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1. % I MTarST e A

2. ¢ 98 IqY WR A 0|

3. % I9 3IY T fe@mn|

4. % Ig- G foh 98 Top ToipART ot
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Options:

1. 3O 9IS &l WIS d6dT &



2. % gg it & sifde w@ifeE @
3. ¥ gg 9IS St dSit 9 Uehrdl 8
4. ¥ gg A & Uy g
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3. ¢ 3! BIE o Tl oAt
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93 x 812+ 273 = (3)°
Options :

1.% 3

2. % 4

3.5

4. % 6
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Select the option that can replace the question mark (?) in the given equation.
93 % 812+ 273 = (3Y°

Options :

1.% 3

2.% 4

3.5

4. % 6
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Options :

1. % 1.8

2.% 14

3.¥1.6

4. % 2
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A 476 metre log train crosses a pole in 14 seconds. The length of a platform is equal to the
distance covered by the train in 20 seconds. A man crosses the same platform in 7 minutes and 5
seconds. What is the speed of the man (in metre/second)?

Options :

1.% 1.8

2.% 14

3.¥1.6

4. % 2
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What is the approximate value of the given expression?

(Note: you are not expected to calculate the exact value)
323 971 56

&5 “ 951 V6l

Options :



1. % 27

3.% 4

4, 21
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fw 31T ot &1 ST Al &= glem?
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323 5 971 . 56
55 251 61

Options :

1.% 27

4.v 21
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What is the approximate value of the given expression?

(Note: you are not expected to calculate the exact value)

68% of 1288 + 26% of 734 - 215



Options :
1. % 620
2. % 930
3. # 540

4.+ 850
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feu 310 Sistes @1 stegefaa AT &1 g2
(31Tgeh! Heleh AT chY IUTAT gl el g1)

1288 <hl 68% + 734 b1 26% - 215

Options :

| % 620

5 % 930

5 % 540

4 v 850
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Options :

1. % hgdt YA [ IR III

2. % oy I 3R YA II a1

3. % dhad hyF I1 3T HYF [ a1 Hy= 111 & &l Tah

4. ¥ wYF 1, 11 R I11 I+ft
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Read the following question, which is followed by three statements I, II and III. Identify which of

the statements are necessary to answer the question.
What is the age of a class teacher?

Statements:
I. There are 11 students in the class.
I1. The average age of the students and the teacher is 14 years.

III. The average age of the teacher and the students is 3 years more than that of the students.
Options :

1. #* Only statements I and III

2. % Both statements I and II

3. # Only statement II and either statement I or III

4. + All statements I, IT and III
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The minimum value of 3 cos x + 4 sin x + 8, is:

Options :

1.4 3

2. % 4

3. %11

4. % 8

Question Number : 63 Question Id : 25498929572 Question Type : MCQ Option Shuffling : Yes
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3 €OS X + 4 sin X + 8 T <LAdH HIH T g1

Options :

1.4 3
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Study the given symbol-letter-number sequence and answer the question that follows.

2PJ]@8%LB1V#Q68GWIOKCDO-£5FR7AY4

How many symbols and numbers are there in the sequence which are either immediately

preceded or immediately followed by the letter which is from the first half of the English alphabet

(A to M)?

Options :
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:N.A Think Time : N.A Minimum Instruction Time: 0
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I foq 7T Ucfien-sreR-gwEa SR & Taof J U 1 IR <

2PJ]@8%LB1V#Q68GWIOKCDO-£5FR7AY4

3R H fohae UF Uclten 3R €U €, fSiFich gid Uget a1 oG I8 18R 8, Sit 3iTsht guiaTe o Ugel e # gar 8
(AT M)?

Options :

3.8

4. %9
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Find out how many such pairs of letters are there in the given word each of which has as many

letters between them in the word as in the English alphabet.

ADEQUATELY
Options :

1. * One

2. % Two

3. ¥ Three

4. ® Four

Question Number : 65 Question Id : 25498912868 Question Type : MCQ Option Shuffling : Yes
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f&d T 2rec # S1eRY & Y foham g €, fOiAH & Udek & off9r Ia- &t 31gR g fd= sidsit guidren # 39 &9 €2

ADEQUATELY
Options :

1. % g

2. % g

3. ¥ dF

4. % IR
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In the following pair, find two words related to the words already given - one word for each of the

two related pairs.

[:Square :: Arc:1I

L. (1) Area (2) Diagonal (3) Rectangle (4) Perimeter
II. (A) Radius (B) Circle (C) Diameter (D) Circumference

Options :
1. % 2C
2. % 3A
3. % 4D

4.+ 2B

Question Number : 66 Question Id : 25498918973 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
A gt & forg i few 1 sreal # @ udes g & ol Ueh Uah <rec ot 9+ hifSig|

[:eaf:=mg: 10

1. (1) &=hd (2) faeuf (3) smad (4) TR
I1. (A) B (B) g1 (C) s (D) uRkfer
Options :

1. % 2C

2. % 3A

3. % 4D

4.+ 2B
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In a certain code language, if

‘A$B’ means ‘A is the mother of B’;
‘A#B’ means ‘A is the father of B,
‘A@B’ means ‘A is the husband of B’;
‘A%B’ means ‘A is the daughter of B’,

then how is P related to T in the given expression?

P@Q$SM#T

Options:

1. ¥ Paternal grandmother
2. * Maternal grandmother

3. ¢ Paternal grandfather



4, # Maternal grandfather

Question Number : 67 Question Id : 25498919810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Teh FAfYa e o 7 afe:

‘A$B’ 1 31 ‘BRI ATAT A B';
‘A#B 1 31 ‘BT AT AR,
‘A@B' &1 31f ‘BATUfd A g,
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P@Q$M#T
Options :
1. % g}
2. % it
3. ¥ qral

4, % |90
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Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.
Options:
1. # Cataract

2. * Hypermetropia



3. # Trachoma

4. % Eczema

Question Number : 68 Question Id : 25498920095 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAfafea uy & fdoeal 7 IR 2reg 3y 710 € fOH @ diF fondlt avg @ smuw & Geifdd g Stafcs I i 81 39
T fdehey dht uga |

Options :

1. ® A

2. ¥ efealy

3. ¥ doptHr

4., & goiett

Question Number : 69 Question Id : 25498927871 Question Type : MCQ Option Shuffling : Yes
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Select the option that is related to the third word in the same way as the second word is related to

the first word.

Car : Garage :: Aeroplane : ?
Options :

1. * Port

2. % Depot

3. ¥ Hangar

4. % Harbour

Question Number : 69 Question Id : 25498927871 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
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39 farehetd 1 T+ RIS fSrgeht JIR 2reg § gt Hee g STt Heie gER 20ea T Ugat 2 9 3l

R : TRIST & aATSSIBIST : ?
Options :

1. ® 4i€ (Port)

2. % f3ut (Depot)

3. ¥ R (Hangar)

4. % gk (Harbour)
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Consider the following statements about the National Anthem.

1. It was first sung on 27 December 1911 at the Calcutta Session of the Indian National Congress.
2. It was adopted by the Constitution Assembly on 26 January 1950.

3. Playing time of the full version of the National Anthem is approximately 52 seconds.

Which of these statements is/are correct?
Options :

1. % Only 1

2. % 1and?2

3.4 1and3

4, % 2and3

Question Number : 70 Question Id : 2549899790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
T T & ey # F=ferfed eyl iR AR &1

1. I8 Ugelt IR 27 R, 1911 t YRART AL it o chetehT A & 717 77 A7
2. Tfaem 91 gRT 38 26 STHaRt, 1950 ahl STU=T™T 47 AT
3. AL T o GUT HIROT o dTGAchIA (iR S18H) AT 52 dehs 8

IR & T Syl & § iF I1/3 Sy T8l 8/8?
Options :

1. % el 1

2. % 13R2

3.¥ 13R3



4, % 2 3R 3
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TYieRoT 3R fahr IR 9g<h IE e (UNCED), o 'gedt fRrer I e ' (S 3-14, 1992) & &u & off ST 7t
g, el SmafSia forar mam ar?

Options :
1. % frepmt
2. % ufeets
3. ¢ Rat S sHRkat

4, % deq

Question Number : 71 Question Id : 25498912525 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The United Nations Conference on Environment and Development (UNCED), also known as the

'Earth Summit' (June 3-14, 1992), was held at:
Options :

1. # Chicago

2. # Adelaide

3. ¥ Rio de Janeiro

4. % London
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In which one of the following sports is the term 'deuce’ often used?
Options:

1. * Cricket

2. ¥ Football

3. ¥ Lawn tennis

4. % Swimming
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Options :

1. ® fohche

2. % gadid

3. ¢ di g

4, % fQfd
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What is 'Sucheta Kadethankar' famous for?

Options :

1. # She is the first Indian to climb Mount Everest twice.
2. * She is the first Indian to cross the English Channel.
3. ¥ She is the first Indian to walk the Gobi desert.

4. # She is the first Indian woman to participate in Olympic Games.

Question Number : 74 Question Id : 25498932493 Question Type : MCQ Option Shuffling : Yes
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fAfafEa § 9 =-a1 Hired, g &3 7 i R 8 ik TafAa ¥ gug & @i, faarur, afa ok smard o

SR HHTeAdT 82
Options :

1. ¢ AT%he (NAFED)
2. % q1@18 (NABARD)

3. # fQedt (SIDBI)
4. % ufes (EXIM) da
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Which of the following organisations is the apex in the co-operation sector and deals in

procurement, distribution, export and import of selected agricultural commodities?

Options :



1. % NAFED
2. * NABARD
3. * SIDBI

4, # EXIM Bank
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WRA & SR & e oo 3 Tue o s R F ou et & Rt wreet & deier J e S Y 1fRn 4 22
Options:

1. 249

2. % 252

3. % 260

4. % 264
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Which Article of the Constitution of India has given power to the Parliament to legislate with

respect to a matter in the State List in national interest?
Options :
1.4 249
2. % 252
3. # 260

4. * 264
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Question Number : 76 Question Id : 25498940883 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498937877 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Building confidence is not about ability, it is about belief. A healthy sense of belief in oneself
can go a long way. No one is born confident. Your confidence and beliefs are shaped by your
lived experiences that can cause you to question everything you thought you knew. When
you question your beliefs, it directly affects your ability to be confident. Therefore, knowing
how to maintain your confidence in the face of those low points is paramount. Here are
some effective ways to build confidence that is unshakeable. Create a strong personal belief
statement. Your belief statement should be both a distillation of your beliefs and a
statement of encouragement that reminds you of your capabilities. You should feel positive
and empowered when you say your belief statement to yourself. In order to create your
belief statement, take ten minutes to write down some challenges you have faced so far.
Spend ten more minutes generating some possible beliefs statements that sum up your

ability to overcome those challenges. Now, say out loud all the statements that you have



created. Choose the statement that evokes the most positive emotion and confidence in you
when you recite it. When you have finished, memorize this statement, write it on your
bathroom mirror or carry it in your pocket. Frequent recitation of your belief statement will
start to lay the foundation for an unshakeable confidence. The more you practice being
confident, the more confident you will be. There are things that you already know you are
good at or are capable of. The data from those past events can be helpful as you
intentionally practice being confident. Whenever you believe you can accomplish
something, use it as an opportunity to practice confidence. Simply expressing your
confidence out loud to yourself or others can have a truly transformative effect. The act of
sharing your belief with others allows them to validate and support you in that belief. When
they echo their confidence in you, it will help you in building confidence in yourself. You
have to strengthen your confidence like a muscle. Surround yourself with confident and
competent people. You are a reflection of both the people you spend time with and your
environment. Therefore, making sure that you are spending time with people who exhibit
confidence in themselves is important. Watching others exercise their confidence will help
deepen your belief and confidence in yourself. Their presence will not only serve as
reminder of how to be confident in tough times, but it will also remind you that you are not
alone on this journey. Note down your wins. When you have your wins written down, you
can always refer back to them as tangible examples of your capabilities and
accomplishments. When you believe in yourself and the belief is rooted in deep trust, there
is nothing that can shake your confidence. Remember to practice confidence daily, be
unafraid to create a belief statement that fires you up, track your wins, surround yourself
with confident people, and establish a foundation of trust. Practices like these will give you

the confidence to accomplish what is possible every day.
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